Making A Model Astronomical Telescope
Chose two lenses one with a relatively long focal length ( say 50cm) and the other with a relatively short focal length (around 10cm).

Find the position of the real image of the clear scale on the distant window frame using the pin/parallax method.
This will be the approximate focal length of the lens if the window is distant enough.

The eyepiece lens acts as a magnifying glass with the .real image as its object


Put the eyepiece lens at its focal length from the pin. Then remove the pin.
Observe through the eye ring. Move the eyepiece lens slightly until you can see the scale very clearly through the telescope.
The magnifying power of the telescope is obtained by observing the image of the scale through the telecope and superimposing on it the scale seen through the open unaided eye.



 On the left the image seen by the naked eye is seen superimposed on the scale seen through the telescope





Measure off the height of the naked eye image on the telescopic scale.











